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Follow the example and solve these questions:-

1.Write the following numbers in the expanded
Form.
A.3,56, 814
Solution :- 3, 00,000 +50, 000 +6,000
800+10+4
B.54, 09, 388
Solution:- 50, 00, 000 + 4, 00, 000 + 9, 000
+300+80+8
2.Write the following in the compact form .
A.6, 00, 000 + 40,000 + 9,000+ 200+ 50+ 1
=6,49, 251
B.90, 00, 000 + 5, 00, 000 + 80, 000+6, 000
80+4 =95,86 ,084
Now , Solve these questions according
to example.



A.Write the following numbers in
expanded form.
a.4, 76,457 = -
b.8, 12,945 = -
€.2,32,017 = cmmmemmmeeee e
d.67, 04, 809 = —--—-mmm -
e.50, 00, 380 = ~———-—-mmmmmmmm e
B.Write the following in compact form .
a.7,00, 000 + 40, 000 + 6 000
+500+30+ 7 = ~—————-m———-
b.4,00, 000, + 8,000 +600 +40 +2

d.30, 00, 000 +6,00, 000+ 70, 000 +
200 [y —

e.90, 00, 000 + 1, 00, 000 + 6, 000+ 70
4—1: ----------------------
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